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1) 5 minutes of writing, about ¼ of a page total.

Paragraph 1 - Source D opposes Germany because it shows………. (pick one piece of evidence from the source or from the provenance to show how it opposes Germany).

Paragraph 2 - From my own knowledge I know it opposes Germany because…… (use your own knowledge, not in the source or provenance to explain how you know it opposes Germany).


2)  15 minutes of writing, about ¾ of a page total.

Paragraph 1 - Source E is useful because it shows…….. (pick two things it tells you about what people think about the Treaty of Versailles). Source E is also useful because the provenance shows…… (explain why the source was made and why it is useful for learning about the Treaty of Versailles).

Paragraph 2 - Source F is useful because it shows…….. (pick two things it tells you about what people think about the Treaty of Versailles). Source F is also useful because the provenance shows…… (explain why the source was made and why it is useful for learning about the Treaty of Versailles).

Paragraph 3 - Overall, although both sources are useful, I think that source F/E is most useful (choose one) because……

3) 10 minutes of writing, about ½ a page of writing in total. Remember here to change the question to ‘Explain two ways the Treaty of Versailles caused problems for Germany’.
Paragraph 1 - One way that the Treaty of Versailles caused problems for Germany was…… (describe and explain one problem, link clearly to some of the terms and how these caused problems for Germany).
Paragraph 2 - Another way the Treaty of Versailles caused problems for Germany was…… (describe and explain one problem, link clearly to some of the terms and how these caused problems for Germany).

4) 20 minutes of writing (plus checking for SPaG), about 1 side of writing in total.
Paragraph 1 – Clemenceau, explain why he was not satisfied with the Treaty of Versailles (try to give 2 reasons) but also why he was not completely dissatisfied (what did he feel was beneficial for France).
Paragraph 2 – Lloyd George, explain why he was not satisfied with the Treaty of Versailles (try to give 2 reasons) but also why he was not completely dissatisfied (what did he feel was beneficial for Britain).
Paragraph 3 – Wilson, explain why he was not satisfied with the Treaty of Versailles (try to give 2 reasons) but also why he was not completely dissatisfied (what did he feel was beneficial for USA).
Paragraph 4 – Conclusion – make it clear if you agree or disagree with the statement overall. You need to compare all 3 individuals and countries to support whether Clemenceau was least satisfied overall and what is the best reason to support this claim.


